There is more than one XML file with any given measure. Can you please clarify which XML file is
the correct one to use for implementation.

Details of the issue:
From the eSpec Navigator, select ‘All CQMs’ from the Download Links

eSpec Navigator 1.1

That gives you the .zip file eCQM-All.zip.
After the contents of the .zip file are extracted, open a folder for one of the measures.
For example, EH_CMS26v1l_NQF0338_HMPC_HomeCareDoc

When you open the folder, it contains this xml file:

| Liate
2 CMS2EwL 2/5)
|Z=] CMS526vl_Catl_CedaSarmple, xmil 1)

[E1EH_cMS26v1_NOF0D338_HMPC_HomeC... 25

This xml file has this at the top when you open it:

[=] M55 xml |

i <?xml wersion="1.0" encoding="utf-§" 2>

2 <?uml-stylesheet type='textfxsl' href=' fmeasuresfeMeasure.xsl' 7>

3 E<QualityneasureDocument “mlns:xsi="http: fjwww.w3.org/2001 /XML Schema-instance" xmlns="urn:hl7-org:v3">
4 = <l--

Note the href string above.
We are not able to import this file. We get an error.

Next, go back to the folder EH_CMS26vl_NQF0338 HMPC_HomeCareDoc.zip

| Mame = | Liate
1] =] crszevt xml 2/5]

2 CMSFERT__atl_rdasample. 1)
[E]EH_CMs26v1_NQFO335_HMPC_HomeC.., Z)5)

When you open that folder, it contains this xml file

Mame = I Tvpe | |
sl File Folder
5 oda,xs| 25L Styleshest
FoT= g HTML Dacurnent
XML Docurnent
atl_CrdaSample.xml %ML Docurment
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This xml file has this at the top when you open it.

= CMS2BvTme|

1 <?¥ml wersion="1.0" encoding="UTF-8" 2>

2 <?xml-stylesheet type="textfxsl" href="x=sltfeMeasure.xsl" 2>

3 ?<QualityﬂeasureDDcument xmlns:xsi="http:/f/fwww.w3.orgf2001 /XML Schema-instance" xmlns="urn:hl7-org:v3">
q

Note that the href string is different.

We are able to import this file.

I don’t know if the href information has any bearing, but there are other differences
between the two xml files as well.

Our guestions:

Why are there two xml files?

Are you aware that they are different? If so why are they different?

And most importantly, which one are we supposed to use for implementation? This is
important because one of them we can successfully import and one we cannot.




